1. Choose the right transcription symbol for the given sounds:
sing ring king hanging:

A./n/

B./n/

C./8/

D./l/

2. Indicate the word whose underlined part differs from the other three in pronunciation:
A. house

B. mouth

C. could

D. found

3. Choose thr right transcription symbol for the given underlined sounds in words:
vision usual Asian ridge

A. 14/
B. /d3/
C./3/
D./d/

4. Firnd the right word match for the phonetic transcription /swi:t/

A. suite
B. swate
C. sweets
D. swit

5. The word "showed" is transcribed phonetically as:

A. /[aud/
B. /[>:ad/
C./d/
D. /sho:d/

6. If a content word is placed near the particle of a phrasal verb (Hand the letter over), where does the
stress fall:

A. on the particle

B. on the content word

C. on the verb and the article

D. on the particle and the content word

7. If adverbials ( basically/frankly/actually) are placed at the end of the sentence or phrase their
intonation is characterized as:

A. fall-rise

B. falling or rising

C. falling

D. rising



8. An affricate consonant sound:

A. starts as a fricative and releases into a plosive

B. starts as a plosive and releases into a fricative

C. starts as a plosive and releases into a sonant

D. starts as a fricative and releases into a diphthong

9. The pronunciation of the functional verb "are" in the sentence "My friends are coming tomorrow" can
be characterized as:

A. a weak form

B. a strong form

C. a negative form

D. all of the given answers

10. In spoken English prominence (stress) is given to:
A. new information

B. old information

C. both old and new information

D. no type of information

11. The following phrases "who are you" and "try it" illustrate:
A. Joining with /w/ and /j/

B. Joining with /j/ and /r/

C. Joining with /r/ and /w/

D. No joining happens

12. In the production of approximants (r/w/j) the flow of air:
A. is fully blocked

B. is not blocked at all

C. can be blocked or not blocked

D. is never fully blocked

13. What is a phoneme?

A. the smallest unit of sound
B. a blend of phone and meme
C. assingle letter

D. the volume of your voice

14. Which syllable is usually stressed:
A. PHOtographer
B. phoTOgrapher
C. photograPHER
D. photoGRApher

15. The following phrases "handbag" (often pronounced ['hambag]) and "hot potato" (often



pronounced as [ hoppatertouv]) contain phonetic processes of:
A. palatalization

B. assimilation

C. contraction

D. devoicing

16. We normally use falling intonation when we produce:

A. Wh-questions

B. General questions

C. Echo questions (repeating something that someone else has just said)
D. Both wh-questions and general questions

17. Homographs are words:

A. are absent from Engllish

B. are spelt the same and pronounced the same
C. are pronounced the same, but spelt differently
D. are spelt the same, but pronounced differently

18. What is the characteristics of diphthongs?

A. There are 3 vowel sounds.

B. There are 2 vowel sounds.

C. There are at least 2 vowel sounds and a consonant.

D. It is a combination between one consonant and a vowel.

19. The articulation for /f/ is___. This kind of sound is made with the lower lip and the upper teeth.
A. Labiodental

B. Alveolar

C. Interdental

D. Bilabial

20. Upper lip, Palate, Uvula ara all part of the _
A. throat

B. lips

C. mouth

D. nose



